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Q 8.15m

C B
30°
NOT TO
w SCALE
A
Calculate AC.
2L
8.19 =
: sin 30
sin WO ao
W‘—/
X = s{n \\D
Question 2 = 4.34m
39¢cm NOTTO
SCALE
P
24cm
Find the value of x. [3]
PYORET S
Bm. 3 Yy = 3‘” ?"1
an %= = /39 . 3.9
. x 8\ =
a = sin” (Q:q/gq/)
Question 3 = 35,=|=ICM
NOT TO
SCALE
Find the value of p.
] 2
cos @ = bz“' c” -3
- 2bc a2
2
oS P = 2.82"' 3.6 - 5.3—-
2(2.87€3.6)
wd> P - -8_"_|. The Maths Society
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P . cos” (2L = .2



Question 4

NOTTO
SCALE

12.4cm

Calculate the value ofy. [3]
IZ'Ll .J"
—n _ sin3d
sin M . ag
_ oy x SN
4 * Sin 34
- 8.1cm

Question 5 s

NOTTO
SCALE

Use the sine rule to calculate BC.
3 BC [3]
sin 100 sin 30

ain 100
Question 6 BC:=12.2em ¢
y
NOTTO
g SCALE
6cm cm
B

In triangle ABC, AB = 6gm, BC = 13 cm and angle ACB = 23°.

Calculate angle BAC, which is obtuse. [4]
6 13
sin1y  Sin A. ,
sinh - 131 am -
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coy & - b2+ c?-3%

Question 1 20b)(CD
A triangle has sides of length 2cm, 8 cm and 9 cm. 2 d
az=2
b:=8 Calculate the value of the largest angle in this triangle. [4]
e=9 s p. 8%+Q°-2 cos ¢ = & *2 °
2¢8)(D 2(8)(2)
A=n.3" = 4.0
2 ,2_g2
cos 8, 2 +9 -8 tanqle (CD
{23 ;. largest tianq (
B = S4.3
Question 2
NOTTO
SCALE
R
0 12.5cm
Calculate PR. 12 5 PR
('—— = ._-‘". [3]
sin 66 sin 3%
PR . [2-5x 8in6C
sin 3%
=19.0 cm
Question A xcm C
NOTTO
SCALE
B
In triangle ABC, AB = 2xcm, AC = xcm, BC =21 cm and angle BAC = 120°.
Calculate the value of x. 2 > [3]
cos e = bz'\' C‘L"a Yyl = 92
~2be 63, =2
2 r
cos 120 - @) +B= 2 xs 163
2(22)(D . 3/7 = 3.9em
-4 _ qx'z.\.x'z..l-llll .
2 = The Maths Society
Yoe



North

Question 4

NOTTO
SCALE

The diagram shows 3 ships 4, B and C at sea.
AB=5km, BC=4.5kmand AC =2.7km.

(a) Calculate angle ACB. 1() 2%
Show all your working. 2 5 - . (.——-
b2+a”-¢ =003 Lizis

cos C s .

—

2b3 o = 84
wse . 232+uS - S
2(2.92(4-5D
s Cc 2%

(b) The bearing of 4 Ig()lz-n‘(sls 220°.

Calculate the bearing of B from C.

220'- 84 =136

Question5

North
L]

NOTTO
SCALE

North

The diagram shows three points P, Q and R on horizontal ground.

PQ =50m, PR =100 m and angle POR = 140°.

(@) Calculat.e angle PRQ. i -t ( sSOX 8'\0 ‘qO)
sin R sin MO R= sin 100
————— = —— .
S0 0o -18.% [3]
sin R = Sox sin MO
- oo

(b) The bearing of R from Q is 100°. .

,|8,'=[. = 26‘-3

Find the bearing of P from R. 366 - 80
S —

. . 2
1§0 - 100 = 80 &
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Question 6

NOT TO
SCALE

The diagram shows three touching circles.
A is the centre of a circle of radius x centimetres.
B and C are the centres of circles of radius 3.8 centimetres. Angle ABC = 70°.

Fglzthesvalge:fg 2 o 3.60m |w.-1°.'-'l°.='qo. [3]
3.6 . o

SIN4O sin 10
X o 3.6 x 8Sin 70

Sin 4o
' x .1
Question 7 s ). - 3.8 s =l.3| (4
NOT TO
SCALE

In the circle, centre O, the chords KL and PQ are each of length 8cm.
M is the mid-point of KL and R is the mid-point of PO. OM =3cm.

(a) Calculate the length of OK.

oik*s 8>+ U
oK = 9 +16
= Scm

(2]

2 2
wsosb*e -3
(b) RM has a length of 5.5 cm. Calculate angle ROM. - e
5.52- 82+ 37- 2x 3%x3x Cos O

55 - 8°-3%2 - [8cos ©
ws 0 a __5':5'33'-5- 3]
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O - m-u(-;;%) . 132.9°






